Algebraic Expression 2
1. Givena =2,b = —-3,c = —1 .Find
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3a—4b+c
b3 — 4ac
a? — b% + 2bc — c?
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a+b

a® + b3 —3ab
(a—b)(b—c)(c—a)
(a+b)la+c)—(b—a)
(2b +a)(c—a) — (2c — 3b)

2. Simplify following equations
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(5a+2b)+ (3b + a)
(6c+4d)— (2c+d)

(8m —6n) — (2m — 2n)

(4x+y) —(—2x—y)

Gy+92) -2y +42)+ (y — 22)
(Bx+15y—6) — (2x + 5y +6)
2(4b—3) +3(b—1)
5(c+4)+2(3c—-98)

3(2b —4a) —2(3b—7a)

4(u+v)—3(u+3v)
E:l t+1

3 2
%(2a—3)—%(2—a)

p—2 p+1

3 4
3(d-e)
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p +q —[p-(p-9]
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r. 10r—2[r—3(4—1)]

s. 3f+g—[4f-3(f -9l

t 2[n—(p-n]-3n+p)

u. 3[2a—4(b—c)—2[5b—3(c —a)]

p-2 p-1

a —_—

4 6
b. z(2a—1)—5(1-2a)

¢ 2(Bx-2)-(Qx—1)
a 4a 5a-6
2 5 6
1 1
e. 5(3(1_1)_2(2‘1_1)
x x-3y
£ x—3y-_ x

g.%@x—w+§@—2m
h. —2(5a + b) +5(2a — 3b)
i. 3[2a—4(b—c)]—-2[5b—3(c—a)]

2a-3 a+2 5a+8
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k 1-{1—-[1—-(1—-x)—x]—x}—x




